EARAROBEEIERT — 2 N— IBISH —F

2012118178 (+) 8EKRIA

m TJa—Fv—A7v7 (FRDPE) Y I7R2HE (w8 | imEmml - |5 @) o s
[A&4] 1 7% :2,000,000  ~ 23 :460,000 @ ~ 33 :260,000  ~ 4 % :180,000 @ .~ 5 7 :100,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. —tae Ra BR AR :28. —2-1- . — BEAS (KR)
11505 AN X FI AL 4 2 5"4_0 1(2_8)4 2-2-1-1 | 40.2 1 ;1524) %ﬂﬂﬁi
R:T7I2RAFTaIN B:AIXRFT TADAS
5 B2 | ST 1:29.4 3-4-2-2 | 41.0| — 2 458 | ERAE (KiR)
21810 T/ F—2— 54.0 (6) +7) TRAEH X
LT RIA YT v B:T7144-5 Stevie )
= 5 o2 | AMERE 1:29.6 10-10-9-6 | 40.1| — 3 470 | BIAIES (KR)
30117778 Y 55.0 @ (+3) | PIL—EB
R—bF7TO— BANZ-—NZv NA  BALL
N . HER : —7-8- — HEX (KR)
AT 28 G| e [ee) - e e R
LRy r—NN= BEyIRILE— afF E=
. # 2 | LUAESE 1:29.8 6-5-4-3 |41.1| — 4 458 | HRERVEAE (BEFRE)
sEl3| N7~ 54.0 (172 G |BFRA
A2 Y E—y B:RY—X/—=JF2R RS
N N o = EiaEE :30. —6-6- . — SHAREER (KIR)
6lzl 7| 1> b1 552 i 2 ] 1(360)7 5-6-6-7 | 41.6 8 (4_634) SAns]
RHIRT4TTX B:TTLRe— 55 K
R KR . 87— — NEREEE (BRE)
707l g | #1vY7zT7U— it 2 P 1(.33/%9 9-8-7-7 | 41.7 10 (ﬁg) @ﬁ%—
LHALE hF = B2 bOXY=T ()L REKIS
g s 2 | HEEE— 1:31.0 1-1-2-4 | 42.8| — 6 486 | REE= (BERE)
8 4 TRy—7 54.0 (3/4) (7)) | AR
R:77RVIT B:FFI-—vAary NS
- - i 2 | EARE 1:31.4 4-3-5-9 |42.7| — 5 434 | PR (EERE)
9 2| 7T7T ==X 54.0 (2 1/2) 2 |K<EB
LY LIAN— b BRE—TOvHL E  Es
> 3 B2 | FHEREA 1:31.7 8-9-10-10 | 41.9 | — 6 473 | BIWE— (KiR)
10 6|7*>a7F b 54.0 @ us) | B Axva
LT Y Fr BiIAS UL RY # BB
® 1—F—@EBIERL
1T=7r= 4,5,10,2,7,3,9,6,8,1
2a=5F= 4,5,2,10,3,7,9,8,6,1
Ja=5= 5,(4,10),3,2,7,8,9,1,6
40—F— 5,10,3,4,9,1,(7,8),2,6
[ N5
B 5 180M4 714K 5-10 260M e E 5-8 400 JEE 1-5-10 6,730
B B 5 1204 =5 1,450 B = 5-10 380M EE 5-10-1 17,350
10 140 1-10 2,380 B H 5-10 680M
1 1809

ABICOVWTRDTEEERROODE. TR LIV,




